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Z -Transform
Question Bank
Engineering Mathematics-IV

L If Z{f(nﬂ:f[z]then:z a”f(n)}:(, .......... [B.Tech May/June 2012]
—2n =

. For n=0Zle "cos3n=¢ [B.Tech May/June 2012]
3n .

. For n=0,zle’"sinhn| _ [B.Tech May/June 2012]

. Solve: Ym2=7Yan*6y,=3",y(0/=0,y[1]=3 [B.Tech May/June 2012]

5'+7"
. Find: #|7 nz1 [B.Tech May/June 2012]
2] .
. For n=0,zln’l=t [B.Tech(old) May/June 2012]
e flnll=¢ [B.Tech(old) May/June 2012]
n _3n|__:
. For n=0,Z3e" =6 [B.Tech(old) May/June 2012]
Solve: [In+2]+6f(n+1)+9f(n|=2",withf|0/=0, f|1/=0using
Z-transform.. o [B.Tech(old) May/June 2012]
Solve: Yan~Y.=3n,y(0/=0 [B.Tech(old) May/June
2012]
For k=0.Zlsinla+kl[=¢ [S.E. Oct Nov 2008]
K1
For k=0.Z[k3']=¢ [S.E. Oct Nov 2008]
k. .
For k20.Zld'sin3kl=¢ [S.E. Oct Nov 2008]

Solve: flk+2+4f(k+1|+3f(k|=0,k>0if f(0)=0,f(1]=1

[S.E. Oct Nov 2008]

Solve: 12f[k+2|=7 f[k+1|+f[k|=0,k=0.Givent hat f(0|=0,f(1]=3

[S.E. Oct Nov 2008]

For k=0,Z[e sin2k]=¢ [B.Tech Nov/Dec
2011]

For k=0,Zle"sinkw]=¢ [B.Tech Nov/Dec
2011]

For k=0,Z[2'sinh3k]=¢ [B.Tech Nov/Dec

2011]



1 (1) i
19. Solve: yk+1+§y"_ E) » k=0,if y[0]=0 . [B.Tech Nov/Dec 2011]
20. Solve: [ lk+2|=2cosaf(k+1]|-f[k|=0if f(0]=0,f[1]=1
3k . .
21. For k20,Z[e"sin2k]=¢ [B.Tech Nov/Dec
2011]
n _—3ny__ .
22. For n=0.Z[2%e =& [B.Tech(old) Nov/Dec
2011]
23. For n=0.Z[ne"]=¢ [B.Tech(old)
Nov/Dec 2011]
24. Solve: fin+1]=2f(n|=2"n20,f0/=0 [B.Tech(old) Nov/Dec 2011]
25. If Z[f(n)]=f(z), ”ZOHWHZQMfMHZL ......... [B.Tech Nov/Dec
2009]
k>0,z| [\
26. For =27 | |77 ... [B.Tech Nov/Dec
2009]
27. For kzO,Z[k}:c .......... [B.Tech Nov/Dec
2009]
+Ly =[L)% k=0if yl0)=0
28. Solve: Yk Ty YT\ 5| KERILY [B.Tech Nov/Dec 2009]
29. If Z(\un):U(z)thenZ(af”un =6 [B.Tech May/June
2009]
30. Zn") = ,P being positive integer [B.Tech May/June
2009]
.
31. zln'l=¢ [B.Tech May/June
2009]
32. Solve:y ,,,+6y 1.1 +9 y,=2", wit h y,=y,=0using z—transform.
[B.Tech S.E. May/June 2009]
33. Solve:f(n+1|=f(n|=0,f|0]=1 [B.Tech May/June 2009]
o ren. [N
34. Find: Z[2'sin 2 +0|] [B.Tech Nov/Dec

2007]



35, Solve y, =2y, 1+y,,=n [B.Tech Nov/Dec 2007]

. sin|ak|
Find:Z ‘ k>0
36. mn kK I
2
Find: 7 | ——2—— , z‘>l
37. R [ 4 [B.Tech Nov/Dec
4 5
2007]
3
7| —
38. Find: (Z_lmz_%)z [B.Tech
Nov/Dec 2007]
2LV gin [T
39. Find 3|50 [B.Tech Nov/Dec
2013]
-3
40. Find: Z{sm ”} [B.Tech Nov/Dec
2013]
-1 z
41. Find: z—1)(z—3) [B.Tech Nov/Dec
2013]
42. Find: Z13"/,n21 [B.Tech Nov/Dec
2013]
271 z+1
43. Find: 22—2741 [B.Tech Nov/Dec
2013]
flnl+L f(n=1)=uln)+Luln-1)
44, Solve by Z-transform: ' ' 4" g " [B.TechNov/Dec
2013]
‘nVi
l (g
45, Find: 4 [B.Tech
Zi
Nov/Dec 2013]
k
46. Find Z-transform of 3 »Kk<0 [S.E. May June

2013]



sin3k , k>0

47. Find Z-transform of [S.E. May
June 2013]
‘ ‘ c ‘ R
48. Solve: Y |k+2|—5ylk+1]+6y|k|=4",y[0/=0,y(1)=1 by Z-transform.
__Zz
49. Find inverse Z-transformof :  ,2_», 49 [S.E.
May June 2013]
-3k
50. Find Z-transform of € ~ COS4K [S.E. May
June 2013]
-3k .
51. Find Z-transform of €  sinh (2k+5) [S.E.(Old) May
June 2013]
oz
52. Find inverse Z-transform of : |, — 1\)( z—%) [S.E.(Old)
May June 2013] | |
53. Solve the equation: 12Y10,=7 Yo+ y,=0,k=0,(0/=0, y[1]=3 [S.E.
(Old) May June 2013]
k
54. Find Z-transform of 2 €OS (3k+2) [S.E. Oct Nov
2011]
2
_Zz
55. Find inverse Z-transform of : ( 72 +1\) [S.E. Oct
Nov 2011] |
56. Solve: Yier =5 Yin +6 1=k, y[0/=0, y[1/=0 [S.E. Oct Nov 2011]
57. Find inverse Z-transform of : (7 —1|(z—2)’ [S.E.
Nov/Dec 2012]
k
58. Find Z-transform of 3 coshak [S.E.
Nov/Dec 2012]
1 (1) -
59. Solve by Z-transform yk+1+§y’<_(§) k=205 y[0/=0 [S.E. Nov/Dec
2012]
n . [nm
60. Find: 2|2 5" *0]! [sE. May June 2012]




-1

22(2;—1)

61. Find: (Z2+1)2 [S.E. May June
2012]
62. Solve: Yn~ 2Yn-1¥ Vo= [S.E. May June 2012]
3
_Zz @
63. Find inverse Z-transform of : ( z—l)[ 7—1) [B.Tech Nov/Dec
7 )
2013]
_ok o _ _
64. Using Z-transform Solve: U2~ 2Ui ¥Ui=27,y0=2, 1 =1
[B.Tech Nov/Dec 2013]
0z (n)|_,
65. If Z[f(m}—f(z) then Z n =C [B.Tech Nov/Dec
2013]
(1| —F n _k
66. If Z[f[k]}_ () then Zlk a]:c .......... [B.Tech Nov/Dec
2013]
sin k—n+a k>0
67. Find Z-transform of 2 = [B.Tech May/June
2013]
2k4+3F
68. Find: Z k k=1 [B.Tech Nov/Dec
2013]
z’ 1
Jzl>=
69. Find inverse Z-transform of : ( z—l)( z—l) 2 [B.Tech Nov/Dec
2 3
2013]
70. Solve- fin+2+3f(n+1]+2f(n)=0 with yl0]=0,fl1)=1
k .
71. Find: Z|2'sinhak| (s . Nov/Dec 2009]
72. Solve:  Ureat 4t #3U,=3" iy W0 =1 (g B Noy/Dec 2009]
z° 1
B Z‘>Z
73. Find: (z_l Z_l) [S.E.
4 5

May/June 2009]



k . | \ .
74. Find z[ 4 sinl2k+3/¢,k=0 [S.E. May/June
2009]

Mr.Shaikh Zameer H.



